MATH 214 — QUIZ 3 — SOLUTIONS

Solve the following initial value problem: 3’ + 3y = 1 + e, 5(0) = 1.

Solution: The integrating factor in this case is u(t) = eJ 38 — 3t which leads to the following
solution.
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y(0) =1leads to 1 =1/3 + 1+ c or ¢ = 1/3. Hence the final solution is
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Solve the following initial value problem: 3’ — 2y = t?¢*, 3(0) = 1.

Solution: The integrating factor in this case is u(t) = e ~2dt — ¢=2t \which leads to the
following solution.
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y(0) =1 leads to 1 =0+ c or ¢ = 1. Hence the final solution is
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Solve the following initial value problem: 3 +y = te™" + 1, y(0) = 2.



Solution: The integrating factor in this case is u(t) = eJ @ = ¢t which leads to the following
solution.
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y(0) =2 leads to 2 =0+ 1+ c or ¢ = 1. Hence the final solution is
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